
Engine guard installation instruction
BMWOS0180

Attention!
Engine guard should be installed by a qualified person only. Pay particular attention to any parts of the motorcycle, so that they are not 
pinched or they doesn't chafe during operation due to wrong installation of the plate and it’s brackets.

The set includes (Fig. 1):
1. Engine guard – 1 pc
2. Bracket front – 1 pc
3. Bracket rear – 1 pc
4. Shock absorbers with washers and nuts– 3 pcs
5. Bolt M6x20 mm – 4 pcs
6. Bolt M8x20 mm – 5 pcs

1. Remove stock engine guard fixing parts including.
2. Screw in empty technological holse on the bottom of the engine 3 shock absorbers from the set (Fig. 2 and 3 pt. 4).

3. Put the front bracket (Fig. 4 and 6 pt. 2) onto 2 shock absorbers installed in front part of the engine (Fig. 4 pt. 5) and fix it using nuts 
and 2 bolts M6x20 mm in empty technological holes on the bottom of the engine (Fig. 4 pt. 4).

4. Put the rear bracket (Fig. 5 and 6 pt. 3) onto 1 shock absorber installed in rear part of the engine(Fig. 5 pt. 5) and fix it using nuts and 
2 bolts M6x20 mm in empty technological holes on the bottom of the engine (Fig. 5 pt. 4).

www.heed.com.pl



5. Install engine guard (Fig. 7 pt. 1) screwing by 5 bolts M8x20 mm (Fig. 7 pt. 6) to previously installed brackets: 3 bolts in front bracket
and 2 bolts in rear bracket.

www.heed.com.pl


